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program Vitekanie_iz_sosuda;

uses crt, graph;

const s2=0.1; dt=0.005;

var DV,MV: integer,; y,dy,R,t,v1,v2,sl:real;
BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi');
y:=5*6.28; line(0,300,300,300);

Repeat v2:=sqrt(2*9.8*y); R:=1.3+SIN(y);
s1:=3.14*R*R; dy:=-s2*v2*dt/s1;

y.=y+dy; v1:=-dy/dt; t:=t+dft;
circle(10+round(2*t),300-round(5*y),1);
circle(10+round(2*t),300-round(10*v2),1);
circle(10+round(2*t),300-round(10*v1),1);
until (y<0)or(KeyPressed);

Repeat until KeyPressed; CloseGraph;
END.

bT?
3) &
5 2

#
<# <)
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program Potencialnoe_techenie;
{$N+}uses crt, graph;
const n=170; m=50;
var i,ii,},jj,k,DV,MV: integer;
psi: array[1..N, 1..M] of real;
Procedure Raschet;
begin psili,j]:=(psi[i+1,j]+psi[i-1,j]+
psi[i,j+1]+psi[i,j-1])/4; end,;
Procedure Gran_usl;
begin
For i:=1 to N do begin psi[i,2]:=-200; psi[i,M-1]:=
psi[i,1]:=-200; psi[i,M]:=200; end;
For j:=1 to 25 do begin
psi[2,j]:=-208+16%*]; psi[N-1,j]:=-208+16%*];
psi[1,j]:=-208+16%*}; psi[N,j]:=-208+16*]; end,;
For i:=1 to N do For ;=1 to M do
If (j<35)and((i-60)*(i-60)+(j-25)*(j-25)<200)
then psili,j]:=0
For i:=1 to N do For j;=1to M do
If (abs(j-25)<15)and(abs(i-110)<5) then psi[i,j]:=0
For i:=1 to N do For j:;=1 to M do
If (j>25)and((i<30)or(i>150))then psi[i,j]:=200; en
Procedure Draw;
begin
setcolor(round((psi[i,j]+200)/30)+1);
If ((j<35)and((i-60)*(i-60)+(j-25)*(j-25)<200)) or
(G>25)and((i<30)or(i>150)))or((abs(j-25)<15
and(abs(i-110)<5)) then setcolor(15
rectangle(i*4+5,j*4,i*4+8,j*4+3);
rectangle(i*4+6,j*4+1,1*4+7,j*4+2);
end,
BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi");
Repeat inc(k); Gran_usl;
For i:=2 to N-1 do For j:=2 to M-1 do Raschet;
Gran_usl;
For j:=M-1 downto 2 do For i:=N-1 downto 2 do Ras
If k mod 20=0 then begin cleardevice;
For i:=1to N do For j;:=1 to M do Draw; end;
until KeyPressed; CloseGraph;
END.

program Potenc_techen_linii_toka;
uses crt, graph;
const n=120; m=80; dt=0.5;

</

200;

chet;
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var i,j,k,s,DV,MV: integer;

psi: array[1..N, 1..M] of real;

X,y,vx,vy:array[1..8] of real;

Procedure Raschet;

begin psili,j]:=(psi[i+1,j]+psi[i-1,j]+
psi[i,j+1]+psi[i,j-1])/4; end,

Procedure Gran_usl;

begin For j:=1 to M do begin psi[1,j]:5j-1;

psi[N,j]:=8/3*(j-1); end;

For i:=1 to N do begin psi[i,1]:=0; psi[i,M]:=80; e nd;
For i:=1 to N do For j:;=1 to M do begin
If (i-60)*(i-60)+(j-40)*(j-40)<400 then psi[i,j:=4 0;

If (i>110)and(j>31) then psi[i,j]:=80; end; end,
Procedure Drawl,;
begin setcolor(round(psi[i,j]/3)mod 15);
If (i-60)*(i-60)+(j-40)*(j-40)<400 then setcolor(15 )i
rectangle(i*5,j*5,i*5+3,j*5+3);
rectangle(i*5+1,j*5+1,i*5+2,j*5+2); end;
Procedure Draw?;
begin For s:=1 to 8 do begin
If (i=round(x[s]/5+1))and(j=round(y[s]/5)) then
begin vx[s]:=psi[i,j+1]-psi[i,j-1];
vy[s]:=psi[i+1,j]-psi[i-1,]];
X[s]:=X[s]+Vvx[s]*dt; y[s]:=Y[s]-vy[s]*dt;
circle(round(x[s]),round(y[s]),2);
end; end; end;
BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi"); ran domize;
For s:=1 to 8 do begin x[s]:=10; y[s]:=55*s-20; end :
For i:=2 to N-1 do For j:=2 to M-1 do psi[i,j]:=40;
Repeat inc(k); Gran_usl;

For i:=2 to N-1 do

For j:=2 to M-1 do Raschet; Gran_usl;
For j:=M-1 downto 2 do
For i:=N-1 downto 2 do Raschet;
If (k mod 100=0)and(k<800) then

For i:=2 to N-1 do For j:=2 to M-1 do Draw 1;
If k>800 then
For i:=2 to N-1 do For j:=2 to M-1 do Draw 2;
until KeyPressed; CloseGraph;
END.
<# <D

program Odnomernoe_pole_scorostei_vyazkost;
uses crt, graph;
const n=90; h=1; dt=0.05; p=0.02;
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var k,ii,i,DV,MV : integer;
rho,t: real; nu,v,vv: array[0..N+1]of real;
Procedure Raschet;
begin If (i<45) then rho:=0.7 else rho:=1.4;
w[i]:=V[i]+(nu[i+1]-nu[i-1])*(v[i+1]-
V[i-1])*dt/h/h/4+nu[i]*(v[i+1]-2*Vv[i]+
V[i-1])*dt/h/h+p*dt/rho; end,;
BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi');
Fori:=1to N do

If (i<45) then nu[i]:=0.7 else nu[i]:=1.3;
Repeat k:=k+1; t:=t+0.01; v[1]:=0; V[N]:=0;
For i:=1 to N do V[i]:=wV]i];

For i:=2 to N-1 do Raschet;
If k mod 2000=0 then For i:=1 to N do

begin line(round(100+V[i]*16),i*4+50,

round(100+Vv[i+1]*16),i*4+54); k:=0; end;

until KeyPressed; CloseGraph;
END.

Program Konvekciya_odnomernoe_techenie;

Uses crt, graph;

Const n=100; dt=0.2; h=1; Tsr=4;

Var i,k,DV,MV : integer; T,v: array[1..N] of real;

BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi');

v[1]:=0; v[N]:=0; line(50,0,50,480); line(550,0,550

For i:=1 to N do begin TJ[i]:=0.1%; circle(50+5%i,1

circle(50+5*1,140-round(10*T[i]),2); end;

Repeat inc(k); For i:=2 to N-1 do v[i]:=V[i]+

2*(v[i-1]-2*v[i]+Vv[i+1])/h/h*dt+0.3*(T[i]-Tsr)*dt;

For i:=N-1 downto 2 do V[i]:=V[i]+

2*(v[i-1]-2*v[i]+Vv[i+1])/h/h*dt+0.3*(T[i]-Tsr)*dt;

If kK mod 500=0 then For i:=1 to N do begin k:=0;
circle(50+5*1,320-round(VvI[i]),2);
circle(50+5%,320-round(Vv[i]),1); end;

until (KeyPressed); Repeat until KeyPressed; CloseG

END.

Program Obtekanie_korablya vyazkost;
uses crt, graph;
const N=90; M=58; h=1; dt=0.01; p=0;
var ii,jj,kk,i,j,DV, MV: integer;
vv,v: array[0..N+1, 0..M+1] of real;
Procedure Gr_usl;
begin
For i:=1 to N do For j:=1 to M do V[i,j]:=vV[i,]]

,480);
40,2);

raph;

<E
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For i:=2 to N-1 do For j:=2 to M-1 do begin
If (j<5)and(abs(5-i)<5) then V[i,j]:=0;
If (j<40)and(abs(i-50)<1+20*sqr(cos(j/25)))
then Vv[i,j]:=300; end;
For i:=1 to N do VJ[i,M]:=0;
For j:=1 to M do begin v[1,j]:=0; V[N,j]:=0; end;
end;
Procedure Raschet;
begin
WL L=V ]V +L-2*V]i ]+ Vi - 1) de(
+(V[i+1,j]-2*V[i,j]+v[i-1,]])*dt/(h*h)+p; e
procedure Draw;
begin setcolor(round(v[i,j}/30)+1);
If v[i,j]<1 then setcolor(9);
rectangle(i*5,j*5,i*5+4,j*5+4);
rectangle(i*5+1,j*5+1,i*5+3,j*5+3);
rectangle(i*5+2,j*5+2,i*5+3,j*5+3);
end;
BEGIN
DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi');
Repeat Gr_usl;
For i:=1 to N-1 do For j:=2 to M-1 do Raschet;
Gr_usl; For j:=M-1 downto 2 do
For i:=N-1 downto 2 do Raschet;
For i:=1 to N do wv][i,1]:=wV[i,2]; kk:=kk+1;
If kk/30=round(kk/30) then
For i:=2 to N-1 do For j:=2 to M-1 do Draw;
until KeyPressed; CloseGraph;
END.

program Obtekanie_cilindra_vyazkost;
{$N+}uses crt, graph;
const n=40; m=40; dt=0.2; h=1; p=0.4;
var 1,j,DV,MV: integer; s,v2,x,y: single;
vX,vy,vx,vy: array[0..N+1,0..M+1] of single; k:lo
Procedure Gr_usl;
begin For i:=1 to N do For j:=1 to M do begin
VX[1,]]:=20; vy[1,]]:=0; vy[N,]]:=0;
VX[N,j]:=vx[N-1,j]; vx[i,1]:=20;
If (I-N)*(i-N)+(j-M)*(j-M)<360 then
begin vx[i,j]:=0; vy]i,j]:=0; end;
If ((i-N)*(i-N)+(j-M)*(j-M)>360)and
((I-N)*(i-N)+(j-M)*(j-M)<405) then begin
v2:=sqrt(sqr(vx[i,j])+sqr(vy[i,j]));
vX[i,j]]:=v2*(M-))/20; vy[i,j]:=-v2*(N-i)/20; end;
end,

h*h
nd;

ngint;

end;
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Procedure Url;

begin vvx[i,j]:=vX[i,j]+(vx[i+1,j]-2*vX[i,j]+vX[i-1
VX[i,J+1]-2*vX[i,j]+VvX[i,j-1])*dt+p;
wy[iLl:=vy[i ]+ (vy[it+ 1 ]-2*vy[i ] +vy[i-1,)]+
vy[i,j+1]-2*vyli,j]+vyli,-1])*dt; end;

Procedure Ur2;

begin For i:=1 to N do For j:=1 to M do begin
s:=(vvx[i-1,j]-vvy[i,j+1])/(vvx[i,j]-vvyli,j])+0.0
vX[i,j]:=vvx[i,j]*s; vyl[i,jl:=vvy][i,j]*s; end; end

Procedure Drawl;

begin If (i mod 3=0)and(j mod 3=0) then line(12*,1

12*i+round(vx][i,j}/1),12*+round(vyli,j}/1)); end;

Procedure Draw2;

begin i:=round(x/12); j:=round(y/12);

X:=X+VX[1,]]*0.1; y:=y+vy[i,j]*0.1;

circle(round(x),round(y),2); end;

BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi');

Repeat k:=k+1; Gr_usl;

For i:=1 to N do For j:;=1 to M do Url; Ur2; Gr_usl;

For j:=M downto 1 do For i:=N downto 1 do Url; Ur2;

If (k mod 10=0)and(k<100) then begin cleardevice;

circle(12*N,12*M,226); circle(12*N,12*M,224);

For i:=1 to N do For j:;=1 to M do Drawl; end;

If kK mod 200=0 then begin y:=50*k/200+20; x:=20; en

If k>100 then Draw2;

until (KeyPressed)or(k>1.96E+3);

Repeat until KeyPressed,;

CloseGraph;

END.

program vihrevoe_techenie_v_kaverne;
{$N+}uses crt, graph;
const n=80; m=60; dt=0.02; h=1; nu=1.1;
var 1,J,k,DV,MV: integer; vx,vy: single;

psi,w: array[0..N+1,0..M+1] of single;
Procedure Gr_usl;
begin For i:=1 to N do For j:=1 to M do begin
psi[0,j]:=0; psi[1,j]:=0; psi[N,j]:=0; psi[N+1,j]:=
psi[i,0]:=0; psi[i,1]:=0; psi[i,2]:=2; psi[i,M]:=0;
psi[i,M+1]:=0;
w[1,j]:=-2*psi[2,]]; w[i,1]:=-2*psi[i,2]+1;
W[N.,j]:=-2*psi[N-1,j]; w[i,M]:=-2*psi[i,M-1];
end; end;
Procedure Url;
begin psil[i,j]:=(psi[i-1,j]+psi[i+1,]]+
psi[i,j-1]+psi[i,j+1]+w]i,j]*h*h)/4; end,

A+

01;

2%],
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Procedure Ur2;

Begin vx:=psi[i,j+1]-psi[i,j];
vy:=psi[i,j]-psi[i+1,]];

Wi, jl:=wli,j]-vx*(w[i+1,j]-w[i-1,j])*dt/2/h-
vy*(w[i,j+1]-w[i,j-1])*dt/2/h+nu*(wl[i-1,j]-
A*w(i,j]+w[i+1,j]+wli,j-1]+w]i,j+1])/h/h*dt; end;

BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi");

Repeat k:=k+1;

Gr_usl; For i:=1 to N do For j:;=1 to M do Ur1;
Gr_usl; For i:=1 to N do For j:;=1 to M do Ur2;

Gr_usl; For i:=N downto 1 do
For j:=M downto 1 do Url;
Gr_usl; For i:=N downto 1 do
For j:=M downto 1 do Ur2,;
If k mod 200=0 then begin cleardevice; k:=0;

For i:=0 to N+1 do For j:=0 to M+1 do begin

setcolor(abs(round(psi[i,j}/4)+1));
circle(i*6+10,j*6,1); circle(i*6+10,j*6,2);
circle(i*6+10,j*6,3); end; end;

until KeyPressed; CloseGraph;

END.

program Vihri_v_kaverne_pole scorostei;

uses crt, graph;

const n=52; m=42; dt=0.05; h=1; nu=0.3;

var i,j,k,DV,MV: integer; v2: single;
psi,w,vx,vy: array[0..N+1,0..M+1] of single;

Procedure Gr_usl;

begin For i:=1 to N do For j:=1 to M do begin

psi[0,j]:=0; psi[1,j]:=0; psi[N,j]:=0; psi[N+1,j]:=

psi[i,0]:=0; psi[i,1]:=0; psi[i,2]:=2; psi[i,M]:=0;

psi[i,M+1]:=0; w[1,j]:=-2*(psi[2,j]-psi[1,]]);

wl[i,1]:=-2*psi[i,2]+1; W[N,j]:=-2*psi[N-1,j];

w[i,M]:=-2*psi[i,M-1]; end; end;

Procedure Url;

begin

psi[i,j]:=(psi[i-1,j]+psi[i+1,]]+

psi[i,j-1]+psi[i,j+1]+w]i,j]*h*h)/4; end,;

Procedure Ur2;

Begin vx|i,j]:=-psi[i,j+1]+psi[i,j];

vyli,jJ:=psi[i+1,j]-psii,;

Wi, j]:=w[i,j]-vXx[i,j]*(wW[i+1,j]-w[i-1,j])*dt/2/h-

vy[i,J*(wli,j+1]-w[i,j-1])*dt/2/h+nu*(w[i-1,j]-

4*w(i,j]+w[i+1,j]+wli,j-1]+w]i,j+1])/h/h*dt; end,

BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi");

Repeat k:=k+1;

<B
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Gr_usl; For i:=1 to N do For j:=1 to M do Url,;
Gr_usl; For i:=2 to N-1 do For j:=2 to M-1 do Ur2
Gr_usl; For i:=N downto 1 do
For j:=M downto 1 do Url,
Gr_usl; For i:=N-1 downto 2 do
For j:=M-1 downto 2 do Ur2;
If kK mod 500=0 then begin cleardevice;
For i:=1 to N-1 do For j:=1 to M-1 do begin
If (i mod 2=0)and(j mod 2=0) then
begin circle(i*10,j*10,2); line(i*10,j*10,
*10+round(vx]i,j]*30),j*10+round(vy[i,j]*30)
end; end; end;
until KeyPressed; CloseGraph;
END.

program Vihri_za_vistupami;
{$N+}uses crt, graph;
const n=140; m=50; dt=0.02; h=1; nu=2.0;

a=4; b=10; c=5; al=40; b1=45; c1=10;
var i,J,k,DV,MV,EC: integer;

psi,w: array[-1..N+2,-1..M+2]of single;
Procedure Gr_usl;
begin For j:=0 to M+1 do For i:=0 to N+1 do begin
psi[0,j]:=psi[1,]]; psi[N+1,j]:=psi[N,j];
psi[i,0]:=0; psi[i,1]:=20; psi[i,M]:=0;
If (i>a)and(i<b)and(j>c) then psili,j]:=0;
If j>c then begin w[a,j]:=2*psi[a-1,j]/h/h;
w[b,j]:=2*psi[b+1,j]/h/h; end,
If (i>a)and(i<b) then w[i,c]:=2*psi[c,j-1]/h/h;
If (i>al)and(i<bl)and(j>c1) then psi[i,j]:=0;
If j>c1 then begin w[al,j]:=2*psi[al-1,j]/h/h;
w[bl,j]:=2*psi[b1+1,j]/h/h; end,
If (i>al)and(i<bl) then wli,c1]:=2*psi[cl,j-1]/h/h;
w[0,j]:=0; w[N+1,j]:=0; w[i,M+1]:=0; w[i,0]:=0; end
Procedure Url;
begin psi[i,j]:=(psi[i-1,j]+psi[i+1,j]+
psi[i,j-1]+psi[i,j+1]-w[i,j]*h*h)/4; end;
Procedure Ur2;
begin wli,j]:=w[i,j]+(psi[i,j+1]-psi[i,j-1])*(w[i+1
-w[i-1,jD*dt/4/h+(-psi[i+1,j]+psi[i-1,j])*(w[i,j+1
wli,j-1])*dt/4/h+nu*(w[i-1,j]-4*w[i,j]+w[i+1,j]+
wli,j-1]+w[i,j+1])/h/h*dt; end,;
BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi");
Repeat Gr_usl; Fori:=1to N do For j;=1to M do U
Gr_usl; For i:=1 to N do For j:;=1 to M do Ur2;
Gr_usl; For i:=N downto 1 do For ;=M downto 1 do

< )0

rend;

]

rl;

url;
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Gr_usl; For i:=1 to N do For j:=1 to M do Ur2;
inc(k); If k mod 50=0 then begin cleardevice; k:=
For i:=1 to N do For j:=1 to M do begin
setcolor(round(abs(psili,j]*2))+4);
If psi[i,j]=0 then setcolor(15);
rectangle(i*6+10,j*6,i*6+15,j*6+5);
rectangle(i*6+12,j*6+2,i*6+13,j*6+3); end; end;
until KeyPressed; CloseGraph;
END.

{$N+}program Konvekciya;

uses crt, graph;

const N=50; M=60; dt=0.0025; h=1; nu=13.1;

var i,j,k,DV,MV:integer; q,gq2: single;
psi,w,T:array[0..N+1,0..M+1] of single;

Procedure Gr_usl;

begin For i:=0 to N+1 do For j:;=0 to M+1 do begin
T[i,0]:=0; T[i,M+1]:=0; T[O,j]:=0; T[N+1,j]:=0;
T[i,1]:=0; T[i,M]:=0; T[1,j]:=0; T[N,j]:=0;

psi[0,j]:=0; psi[N+1,j]:=0;

psi[i,0]:=0; psi[i,M+1]:=0; w[i,M]:=-2*psi[i,M]/h/h
w[1,j]:=-2*psi[1,j]/h/h; wW[N,j]:=-2*psi[N,j]/h/h;
w(i,1]:=-2*psi[i,1]/h/h; w[0,j]:=0; w[N+1,j]:=0;
w[i,M+1]:=0; w[i,0]:=0; end; end;

Procedure Url;

begin psil[i,j]:=(psi[i-1,j]+psi[i+1,j]+
psi[i,j-1]+psi[i,j+1]+w]i,j]*h*h)/4; end,;

Procedure Ur2;

begin wli,j]:=w[i,j]-(psi[i,j+1]-psi[i,j-1])*(w[i+1
wli-1,j])*dt/4/h+(psi[i+1,j]-psi[i-1,j]) *(w][i,j+1]-
wli,j-1])*dt/4/h+nu*(w[i-1,j]-4*w[i,j]+w[i+1,j]+
w(i,j-1]+w[i,j+1])/h/h*dt-0.0002*(T[i+1,j]-T[i-1,]]
Procedure Ur3;

begin q:=0;

{If [i,j]>0.2 then q:=-t[i,j]*t[i,j]*[i,j]/50000;

If (abs(i-30)<3)and(abs(j-50)<3) then q:=350;
T[Lj:=TL,+21.3*(T[i-1,j]-4*T[i,j]+ T[i+1,j]+
T[i,j-1]+T[i,j+1])/h/h*dt-
(psi[i,j+1]-psi[i,j-1D*(T[i+1,j]-T[i-1,j])*dt/4/h+
(psi[i+1,j]-psi[i-1,jD*(T[i,j+1]-T[i,j-1])*dt/4/h+

end,

BEGIN DV:=Detect; InitGraph(DV,MV,'c:\bp\bgi");
Repeat Gr_usl; For i:=1 to N do For j;:=1 to M do Ur
Gr_usl; For i:=N downto 1 do For j;=M downto 1 do U
Gr_usl; For i:=1to N do For j:=1 to M do Urz;
Gr_usl; For i:=N downto 1 do For j;=M downto 1 do U

g*dt;

rl;

r2;
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Gr_usl; Fori:=1to N do For j:=1 to M do Ur3;
Gr_usl; For i:=N downto 1 do For j:=M downto 1 do U
inc(k); If k mod 200=0 then begin cleardevice; k:=0
For i:=1 to N do For j:=1 to M do begin
setcolor(abs(round(psi[i,j}/20))mod 12+2);
rectangle(i*6,j*6,i*6+4,j*6+4);
rectangle(i*6+1,j*6+1,i*6+2,j*6+2);
setcolor(abs(round(TTi,jJ/60))mod 14+2);
rectangle(i*6+300,j*6,i*6+305,j*6+5);
rectangle(i*6+301,j*6+1,i*6+304,j*6+4); end; end;
until KeyPressed; CloseGraph;

END.
@
) 7 7 < X &
8 * @] )B-- **)E,
/' 5 7'5 *
# X )e7 5 fA
)BB) ** E,-
+ $SAF
< $X A7' # &2! **
+/D
D 9 6
# <
G8 ™ @¢g 2
/00. ** /D
" 1&S$S'F !
@] 5 5 »*'<5@: & G &I/O
E X % % F 77 < 5 ¢#
, X! & 2 ** @ )BB/

-G & $<5 #
e $G & 7 h5 @%
B = # # (H

r3;

e$A
@ )BJ **

2
0. ** /0-
/0)) .BI

*% _)_

)B,+ D)ER
1eiQ@

SUUk@eelKmTJ Jn oPKpan LTU SUUk@eeqalk labTP J&Jab

30



)0 X & 2 rx
<:@ /00B **))/

) # @ ]5*
5 * @ /O0OE **,/ 3SUUk@eeWmLbaW TbN JNe JTOaNJRTeDB,e,0DB,4
< A & 2 eAc< @
)B,. **+B/
)+ < & # e < * @ )B-0 *
E)E
D' $ # &e $'
r: o @ %st# t
/00B **),/
). 6 9G & 5
8 *»: @: * : * )BBO ** /1-
JE6 ] % &* 6 o
@ )B-) ** DO-
6  $% $$ ] 2 @
% )BEE **,/D
)-g < & 2 @ 15 5
@ * 5 * * BBD k[
)B g 9r u g%
# @]5 5 e 5 &
l# 2 & # 5 N #
; H# ) G fala
/00, **-D B

/0 vaaPwOalL xx cTJU ly ZL zLUJabNRUmaL Ua \al kKNUTJ {mINPKUmaL
wadb iLmnTJOmMU} cJTOO )BBB ** +)) k

Yl

31



